o N A O © o N A O ©

o N A O ©

60-s bins
T T T
2023012570 023%01?2“ 08: 0030010250110 00:00.0%°
Time (utc)
60-s bins
T T T
2023- 01-25T 02023%01?25“3 :00:00 zsoﬂo 00:00-0¢
Time (utc)
60-s bins
T T T
2023-01257 02023%010 5T08: 0%0010259\'10‘.00:00.000

Time (utc)

Latitude

Latitude

Latitude

© N i
o u o

(-
uoN
o wu

90901302002 FPMB: No SAA Filter

12.19-ks, 100%

~
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0OPTIMIZED --tentacle=no 11.95-ks, 98%
~
f
T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 11.95-ks, 98%
~
f
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0:00.0 0:00.000
2023_01 15T 23 01 15T I:8 0023 '\'10 0
Time (utc)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
T T T
000 1000
2023-01- 25700 2(3’001 25708 0832(330 5100000
Time (u C)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0: oo 0:00.000
102301 25706 23 01_7_5‘(08 0 30 T 10:0

Time (utc)

90901302002 FPMB: No SAA Filter 12.19-ks, 100%

g

g

50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no 11.65-ks, 96%
- - - i
/ l
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 11.65-ks, 96%
- - - i
/ l
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
00.0 00.000
2023_01_15T -00: 23 0 1 7_57 8- 0(;323 no 00:
Time (utc)
60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
T T T
000 1000
2023-01- 25700 2(3’001 25708 0832(330 5100000
Time (u C)
60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
0: oo 0:00.000
102301 25706 23 01_7_5‘(08 0 30 T 10:0

Time (utc)

90901302002 FPMB: No SAA Filter 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

--saacalc=2 -saamode=O0PTIMIZED --tentacle=yes 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0:00.0 0:00.000
2023_01 15T 23 01 15T I:8 0023 '\'10 0
Time (utc)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
T T T
000 1000
2023-01- 25700 2(3’001 25708 0832(330 5100000
Time (u C)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0: oo 0:00.000
102301 25706 23 01_7_5‘(08 0 30 T 10:0

Time (utc)

90901302002 FPMB: No SAA Filter 12.19-ks, 100%

g

g

50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no 11.63-ks, 95%
- - - i
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 11.63-ks, 95%
- - - i
T T T T T T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
00.0 00.000
2023_01_15T -00: 23 0 1 7_57 8- 0(;323 no 00:
Time (utc)
60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
T T T
000 1000
2023-01- 25700 2(3’001 25708 0832(330 5100000
Time (u C)
60-s bins
5.0
o 25
] E
= 0.0
B ®
-
-2.5
-5.0
0: oo 0:00.000
102301 25706 23 01_7_5‘(08 0 30 T 10:0

Time (utc)

90901302002 FPMB: No SAA Filter 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=no 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

--saacalc=3 -saamode=O0PTIMIZED --tentacle=yes 12.19-ks, 100%

g

g

T T T T T T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0:00.0 0:00.000
2023_01 15T 23 01 15T I:8 0023 '\'10 0
Time (utc)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
T T T
000 1000
2023-01- 25700 2(3’001 25708 0832(330 5100000
Time (u C)
60-s bins
5.0
o 25
] E
= 0.0
E ®
-
-2.5
-5.0
0: oo 0:00.000
102301 25706 23 01_7_5‘(08 0 30 T 10:0

Time (utc)

90901302002 FPMB: No SAA Filter 12.19-ks, 100%

g

g

50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no 11.63-ks, 95%
- - - i
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 11.63-ks, 95%
- - - i
T T T T T T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



